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Question Number : 1 Question Id : 2549896472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
contains buttons that provide quick access to frequently used commands.

Options :

1. % The Quick access toolbar
2. * The Menu bar

3. ¥ AWindow

4. * The Find option

Question Number : 1 Question Id : 2549896472 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ oIk Ui golaR

2. % BER



3. ® fdsi

4. ¥ prEe fAoapey

Question Number : 2 Question Id : 2549896789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The utility identifies non-essential files on the hard disk and erases them only when the user

allows their erasure in Windows OS.

Options:

1. * File compression
2. ¥ Disk cleanup

3. #* Uninstall program

4. % Backup

Question Number : 2 Question Id : 2549896789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ Thisd hEIRE

2. ¢ STk T3y

3. ¥ IS UUH

4. % SRH3Y



Question Number : 3 Question Id : 2549896838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a primary memory?

Options :

1. # Hard disk
2. % CD

3. ¥ RAM

4. % Pen drive

Question Number : 3 Question Id : 2549896838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ gré @
2.% CD

3. ¥ RAM

4. % U7 grgq

Question Number : 4 Question Id : 2549896882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following are the two main components of a microprocessor?



Options :

1. #* Slots and SMPS

2. ¥ Control Unit and Arithmetic Logic Unit
3. * Mouse and keyboard

4. % ASCII and EBCDIC

Question Number : 4 Question Id : 2549896882 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ icd 3R SMPS

2. ¢ agld gie ok srefAfees difoia gfie
3. ¥ A3 IR HIeS

4. % ASCII 3R EBCDIC

Question Number : 5 Question Id : 2549897365 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is a web server?

Options:
1. % Perl
2. * Fedora

3. # Lucene



4. ¥ Apache

Question Number : 5 Question Id : 2549897365 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. ¥ Ui

2. ¥ el
3. % g

4.« O

Question Number : 6 Question Id : 2549897509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The Autocorrect option is available in the tab of OpenOffice Writer.

Options :
1. % Edit

2. ¥ Tools
3. #* Help

4, = Insert

Question Number : 6 Question Id : 2549897509 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
3U SA1th 3R (open office writer) & fohg &a # 3iict Tae (Autocorrect) fadhed Iuaey §?

Options :

1. # ufee (Edit)
2. ¥ 7 (Tools)
3. ¥ ge4 (Help)

4. % 3g¢ (Insert)

Question Number : 7 Question Id : 2549899344 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A is used to digitise pictures or documents and present it on a computer screen.

Options :

1. % printer
2. # keyboard
3. ¥ scanner

4, # plotter

Question Number : 7 Question Id : 2549899344 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % iR

2.



#® DS
3. ¢ ThR

4, ¥ ™[R

Question Number : 8 Question Id : 2549899366 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following access methods is used in magnetic tapes?

Options :

1. * Object access

2. * Portable access
3. ¥ Sequential access

4. % Direct access

Question Number : 8 Question Id : 2549899366 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
fAafafea & 9 forg vata fafe 1 suahT gedia u # fohar Sirar 82

Options :

1. ¥ Ifiscige Tad
2. ¥ Uidee gy

3. ¢ RerfRe g

4. % SRR TRl



Question Number : 9 Question Id : 25498911599 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a part of the CPU?

Options :

1. % Memory Unit

2. # Arithmetic Logic Unit
3. % Visual Display Unit

4. * Control Unit

Question Number : 9 Question Id : 25498911599 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1. * A9 gfie
2. % fedfees i gfie

3. v frqjer e afie

4. % G e

Question Number : 10 Question Id : 25498918689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following commands must be typed into the Start Search box to launch Problem



Steps Recorder in Windows 7?

Options:

1. ¥ psr.exe

2. * probstprecd
3. ® winpsr

4. % psr.open

Question Number : 10 Question Id : 25498918689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ psr.exe

2. * probstprecd
3. % winpsr

4. % psr.open

Question Number : 11 Question Id : 25498923838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which semiconductor device does an LED printer use?

Options :
1. # Piezoelectric crystal

2. ¥ Light Emitting Diode
3.



# Light Emitting Device

4. *# Liquid Crystal Device

Question Number : 11 Question Id : 25498923838 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : 0 Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ fUssiigcaides feheea

2. ¥ Y1l ISich SRS

3. # YchIQT IToich fearsy

4. % R foreea fearsg

Question Number : 12 Question Id : 25498929846 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A barcode is used to information in a visual pattern readable by a machine.

Options :

1. * decode
2. ¥ encode
3. % compress

4. # decrypt

Question Number : 12 Question Id : 25498929846 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ® State
2. ¥ Qs
3. ¥ &g

4. % f3fore

Question Number : 13 Question Id : 25498930035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following features is NOT supported by a biometric sensor system?

Options :

1. % Access control
2. ¥ Spam mail

3. ¥ Authentication

4. * Identification

Question Number : 13 Question Id : 25498930035 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



1. % TRy el
2. ¥ QU Ad
3. # yxofiezor (s )

4, % rfafayRor (smgefefthehem)

Question Number : 14 Question Id : 25498931057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a utility software?

Options :

1. # Disk defragmenter
2. * Backup software
3. ¥ Firmware

4. ¥ Virus scanning software

Question Number : 14 Question Id : 25498931057 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * % ShAx
2. % ST FIFeddR

3. ¢ HaWR



4, ¥ gy Thi-T Giedar

Question Number : 15 Question Id : 25498931390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If you set up a worksheet with row or column headings, these headings will not be visible when
you scroll down or to the right.

MS Excel 2019 provides a handy solution to this problem with panes.

Options:

1. # squeezing
2. * closing

3. ¥ blocking

4. + freeze

Question Number : 15 Question Id : 25498931390 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ WIS (squeezing)
2. % ST (closing)

3. % Atfeht (blocking)

4. ¥ ST (freeze)



Question Number : 16 Question Id : 2549898173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

refers to hacking or deception that imitates another person, software program, hardware

device, or computer to bypass security measures.

Options :
1. * Access
2. # Virus
3. ¥ Spoof

4. * Firewall

Question Number : 16 Question Id : 2549898173 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % gga (qaa)
2. % dIOg
3. ¥ WH

4. % thERard

Question Number : 17 Question Id : 2549899454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Printer resolution is measured in:

Options:
1. % DPI
2. ®# GPU
3. #¥ CPU

4. % MPI

Question Number : 17 Question Id : 2549899454 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. « idiemg (DPI)

2. ® SfidRg (GPU)
3. ¥ didig (CPU)
4. % gadiems (MPI)

Question Number : 18 Question Id : 2549899476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The powdered black ink used by laser printers is called cartridge.

Options:
1. % ink

2. ¥ toner



3. % mixed

4. % primary

Question Number : 18 Question Id : 2549899476 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # g

2. ¥ R

3. # Moz

4. % ygad

Question Number : 19 Question Id : 2549899581 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is character printer?

Options :
1. % Dot matrix
2. * chain
3. * band

4. % |aser

Question Number : 19 Question Id : 2549899581 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Sl Aftay
2. % 39

3. % dg

4. % AR

Question Number : 20 Question Id : 25498910790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following domain names is used by commercial businesses?

Options :
1. ® .net
2. % .org
3. ¥ .com

4. % edu

Question Number : 20 Question Id : 25498910790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :



1. # .net
2. % .org
3.4 .com

4. % edu

Question Number : 21 Question Id : 25498911253 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is the earliest known device that recorded sound from the air?

Options :

1. * Magnetic tape recorder
2. % Radio

3. * Voice recorder

4. ¥ Phonautograph

Question Number : 21 Question Id : 25498911253 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® A1 U Rl
2. ® A

3. ¥ digy RepreR

4. ¥ BFSiicuT® (Phonautograph)



Question Number : 22 Question Id : 25498913395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a network topology type?

Options :
1. % Star
2. ¥ Mesh
3. * Ring

4.+ Plain

Question Number : 22 Question Id : 25498913395 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ TR (Star)
2. % 71 (Mesh)
3. # f&1(Ring)

4. ¥ =4 (Plain)

Question Number : 23 Question Id : 25498913459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What does PNG stand for?

Options:

1. % Portable Network Graphic
2. * Personal Network Graphic
3. # Private Network Graphic

4. # Protected Network Graphic

Question Number : 23 Question Id : 25498913459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ Uidae Aeach Tifthas (Portable Network Graphic)
2. % g¥del Aeah Ulfthas (Personal Network Graphic)
3. % yrgde Aegdh UMtha (Private Network Graphic)

4. ¥ yidads Aeamh Ulithas (Protected Network Graphic)

Question Number : 24 Question Id : 25498913956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
What is WPA?

Options :
1. ¢ Wi-Fi Protected Access

2. * Wired Protected Access



3. % Wired Process Access

4. * Wi-Fi Process Access

Question Number : 24 Question Id : 25498913956 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
WPA T quf &0 &7 §?

Options :
1. ¢ wi-fi protected access (3-8 TS Tad)

2. % wired protected access (IS Uit S ToRIH)

3. % wired process access (a8 MET oY)

4. % wi-fi process access (aBE-Hhs TEH ToR)

Question Number : 25 Question Id : 25498918466 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The operating speed of a printer is usually calculated as

Options :

1. ¥ pages per minute
2. ® dots perinch

3. #* dots per minute

4. * blocks perinch

Question Number : 25 Question Id : 25498918466 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ ys ufa e
2. % f9qufa <=

3. ¥ fog ufd fAme

4. ¥ i ufa <

Question Number : 26 Question Id : 25498918561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The is a signal emitted by hardware or software when a process or an event needs

immediate attention

Options :

1. % alert

2. ¥ interrupt
3. # alarm

4. % noise

Question Number : 26 Question Id : 25498918561 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 3ra1¢ (alert)

2. ¥ R (interrupt)
3. % 31 (alarm)

4. % 9139 (noise)

Question Number : 27 Question Id : 25498922020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Triple DES systems are than single DES, but than single DES.

Options:

1. ¥ secure, slower
2. # unsecure, faster
3. ¥ secure, faster

4. % unsecure, slower

Question Number : 27 Question Id : 25498922020 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ gi&q, ot
2. % rgefed, asf



3. % gfaq, oo
4, % argRfeyd, i

Question Number : 28 Question Id : 25498924172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is NOT true?

Options:
1. ® An operating system (OS) is a collection of software.

2. # The operating system is an essential component of the system software in a computer

system.
3. # Application programs usually require an operating system to function.

4. ¥ An operating system is an optional component of a computer system.

Question Number : 28 Question Id : 25498924172 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % g o} SffuRfET RAew (OS) ToedTR T Ueh U 8T 8

2. ® IR kew fordt shrger Rken # f{%en AitredaR o1 Ueh 31aedeh 9eeh gidl g
3. # QtIch T UHITH ol i e o folT STHAR UR Teh ITURIET fATew &hi smagendr gidl gl

4. ¢ ATqRfET fwen fepdt R el Yeh dehfetich Ueeh gidl 8|



Question Number : 29 Question Id : 25498925396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Static bypass system:

Options :

1. # transfers the load to the AC power if the inverter system fails.

2. ¥ transfers the load to the DC power if the inverter system fails.

3. # transfers the load to the AC power if the inverter system is working.

4. *# transfers the load to the DC power if the inverter system is working.

Question Number : 29 Question Id : 25498925396 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
"Tefeeh ITSUTH" UUTTel! RIT ohelt 872

Options:

1. ¢ 39&K e Athel 811 W &t &l AC UTeR H ¥R &t g

2. % 39 f&%A fAthel 14 R i @l DC UreR | WHidRd &t 8|
3. ¥ 3R Q%A M I T ¢ dl IS hl AC UTeaR H TIFIdRd el gl

4., % 3 ey i g @1 ¢ df i bl DC UTeR H WHidRd shed! g

Question Number : 30 Question Id : 25498925428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Blackouts are:



Options :

1. ¢ total power failure

2. # short-term decreases in voltage
3. #* long-term increase in voltage

4. *# also called surges

Question Number : 30 Question Id : 25498925428 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR T 8?2

Options :
1. ¢ ot faega fatherar

2. % gicest # sreenifcien Rt
3. ¥ gicest A ddanifers gig

4. % 3 gl o 9 7 ot STHT ST 81

Question Number : 31 Question Id : 2549896738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT a purpose of the Internet?

Options:
1. % For downloading songs online
2. ¥ For creating a folder on the desktop

3. ¥ For watching television programmes online



4. # For purchasing mobile phones

Question Number : 31 Question Id : 2549896738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. % fdi al STTIATS SIS T o folg
2. ¥ STheld IR Thice: g4 & fow

[aW N

3. # IcNifaT Shrdshd SFET ¢@+ & folg

4. % TiE1sd BiF Tile & g

Question Number : 32 Question Id : 2549896767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

is a software program that searches documents and files for keywords and returns the

results of any file containing those keywords.

Options:

1. % Asearch engine
2. % A URL locator
3. * Anindex page

4. * Facebook

Question Number : 32 Question Id : 2549896767 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ueh HUedIR U 8 St SlRgHeH 3R Gigel ! @IS fhet dhias & ear g iR uRumasy 3 dlas arelt
forelt ot whrget et gt 21

Options :

1. ¥ Toh 99 S5
2. % geh URL dhex
3. % U IS99 U9

4. % thyadh

Question Number : 33 Question Id : 2549897224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
How many main models of cloud computing are available?

Options :
1. % One
2. % Two
3. ¥ Three

4. % Four

Question Number : 33 Question Id : 2549897224 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
FATIS HR[T o fohd 7 Alect Juelsy g?

Options:



1. % g&
2. % @
3. v d=

4. % g

Question Number : 34 Question Id : 2549897980 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Video and audio recordings can now be streamed on-the-go using

Options :

1. % Wikis

2. ¥ Mobile computing
3. ¥ Webmasters

4, ¥ Mash-ups

Question Number : 34 Question Id : 2549897980 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
difSat ok STt RepifS ot o1F T IUANT hech deid-Tohed TIH fohaT ST Hehd 8|

Options :
1. ® fafkra
2. ¢ HieTse e

3. # JaHReY



4, % -3y

Question Number : 35 Question Id : 25498910448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following keyboard shortcuts is used to change lowercase letters to uppercase letters

in Microsoft Word 2019?

Options :

1. % Alt+F3
2. % Ctrl + F3
3. ¥ Shift + F3

4, % Alt + Shift + F3

Question Number : 35 Question Id : 25498910448 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

aTgehiaige Word 2019 &, A & @ ohiF-1 hialS Riféche ARGy 318l i STURehY 31&RI H dga o ol ST
forar ST 82

Options :

1. % Alt+F3
2. % Ctrl+ F3
3. ¢ Shift + F3

4. % Alt + Shift + F3

Question Number : 36 Question Id : 25498911053 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Microsoft Word 2019 allows you to record all changes electronically using the feature.

Options :

1. Track Changes
2. * Editor

3. ¥ Spellcheck

4. % Thesaurus

Question Number : 36 Question Id : 25498911053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ATSehITge Word 2019 3Taeht ThITR ST IUANT chich G IRAAH bt Seidreii-eh &4 § Repls ahet ohl SrgAfd
gl

Options:
1. ¢ ¥ ARG
2. % gfeeR

3. ¥ WeTddh

Question Number : 37 Question Id : 25498911079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The full form of BIOS is .



Options :

1. * Beginner In Out System

2. ¥ Basic Input Output System
3. # Basic In Out System

4. # Beginner Input Output System

Question Number : 37 Question Id : 25498911079 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

BIOS o1 Quf & oRIT 8?2

Options :

1. ¥ Beginner In Out System (faff =R 377 313c fA%eA)

2. ¢ Basic Input Output System (sf&ieh 37qe 3m3eye &%)
3. # Basic In Out System (af¥1e 39 31m3e &)

4. ¥ Beginner Input Output System (faffR g9qe srgeye &)

Question Number : 38 Question Id : 25498911845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In Microsoft Word 2019, the Spelling and Grammar feature is available under tab.

Options:
1. ® File
2. % Home

3. # Insert



4, ¥ Review

Question Number : 38 Question Id : 25498911845 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AgshiEde Word 2019 #, @ielT iR IR iR & o 3iid I B

Options :

1. % thrsd (File)
2. # g9 (Home)
3. # 34¢ (Insert)

4, ¥ g (Review)

Question Number : 39 Question Id : 25498911896 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

What is the address of the cell at the intersection of the third column and sixth row in Microsoft

Excel?

Options :
1. % D6
2. % A6
3. % F3

4.+ Co6

Question Number : 39 Question Id : 25498911896 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ATgehiate Excel # st died SR S&1 Ufth () & ufdesded TR I ol UdT (VSd) T gidT 872

Options :
1. % D6
2. % A6
3. % F3

4. ¥ C6

Question Number : 40 Question Id : 25498925216 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A domain name is the where internet users can access your website.

Options :
1. * host
2. ¥ address
3. ® post

4. % port

Question Number : 40 Question Id : 25498925216 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Uch S 9 a8 § ST81 e3¢ IUANTehd! SMTUch! AaTSE ol Ui YT e Tehd g |

Options :

1. % g



2.v 7gH
3. % g

4, % gié

Question Number : 41 Question Id : 25498925292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following should come under dont's for naming a file?

Options :

1. #* Include version numbers
2. ¥ Be cryptic

3. # Be consistent

4. % Be short

Question Number : 41 Question Id : 25498925292 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : 0 Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ThIS hl ATHEHRUT thed oh folT At & & shi9-TT “’don'ts” & dgd ST I1igu?

Options :

1. ¥ HTHUT HEAT A A2
2. ¢ fohdias &+ (Be cryptic)
3. % fRdRdT s9Q

4. % g&u/<né s+ (Be short)



Question Number : 42 Question Id : 25498933795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following feature in MS-Word 2016 is used to change the color of the text in a

document?

Options :

1. % Font Color

2. # Text Highlight Color
3. * Shading

4. % Text Painter

Question Number : 42 Question Id : 25498933795 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
THUg-gs 2016 # fAEfafaa d @ forg faLivdr a1 Iuah gxardst & e & 31 ot Seer o foig fohar Sirar g2

Options :

1. ¥ VT hoR

2. % ¥RC gIEdISe Shol}

3. ® QfSw

4. % e dax

Question Number : 43 Question Id : 25498938411 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The process of capitalising letters in escape sequences as shown in the example,
http.//www.example.com/a%c2%blb
to

http.//www.example.com/a%C2%B1b is known as:

Options :

1. * URL balancing

2. % URL support

3. ¥ URL modification

4. ¥ URL normalization

Question Number : 43 Question Id : 25498938411 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&Y 1Y IETER0T & SR, U&hy ohil B 31eRT i a8 (hiteet) S1&RT & Sael hl UfchaT i a1 gl STTaT 872
http.//www.example.com/a%c2%blb & http.//www.example.com/a%C2%B1b

Options :

1. % URL Tge
2. % URL gAY
3. ¥ URL gsmee

4. « URL 9mHT=IIhI0T

Question Number : 44 Question Id : 25498941507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The keyboard shortcut to display the Create Table dialog box in MS-Excel 2019 is .



Options :

1.% Alt+T

2.9 Ctrl+ T

3. % Ctrl + Alt+ T

4. % Shift+T

Question Number : 44 Question Id : 25498941507 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 # fehue eaet ST dia U Rid e o foly fiats licepe gl

Options :

1. % Alt+T

2.9 Ctrl + T

3. % Ctrl+ Alt+T

4, % Shift+T

Question Number : 45 Question Id : 25498941512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
is the keyboard shortcut to activate AutoFilter in Microsoft Excel 2019.

Options :
1.9 Ctrl + Shift + L
2. % Ctrl + Shift + C

3. #® Ctrl + Shift + K



4. % Ctrl + Shift + M

Question Number : 45 Question Id : 25498941512 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
HTSehIGIue Uade 2019 # 3ifeiftheex l Tfchd et o foruw Fiats Qiféane g1

Options :

1.9 Ctrl + Shift + L
2. % Ctrl + Shift + C
3. #® Ctrl + Shift + K

4. % Ctrl + Shift + M

Question Number : 46 Question Id : 25498941516 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2019, the is a key that is used to identify the colours, patterns or symbols

assigned to a data series in a chart.

Options :

1. % Data Series
2. ¥ Legend

3. ¥ Axes Titles

4. % Mini Charts

Question Number : 46 Question Id : 25498941516 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HTgshigiue Excel 2019 H, Ueh ol g fSreent IuaiT =1 | SeT gjrae vt gareH fohy g &, et a1 udtent
Uga e oh foiy foham Srar 81

Options :

1. % 31 RIS (Data Series)
2. ¢ diife (Legend)

3. % ufaqyg e1ged (Axes Titles)

4. % fa-ft Irdg (Mini Charts)

Question Number : 47 Question Id : 25498941521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

is the process of arranging data in a definite sequence based on a criterion or criteria in

Microsoft Excel 2019.

Options:

1. % Sorting

2. * Filtering

3. % Sequencing

4. % Saving

Question Number : 47 Question Id : 25498941521 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
, ATgehiarde Excel 2019 # fohddt ATES a1 ATUES o SR WR ST i Teh i o & suafedd e &t




ufehar g1

Options :
1. ¢ gifén
2. % fOheefR
3. ¥ {adfd

4, % gfdm

Question Number : 48 Question Id : 25498941525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The keyboard shortcut is used to close a workbook in Microsoft Excel 2019.

Options:

1. % Alt+C

2. % Ctrl+ C
3. % Ctrl+ O

4.+ Ctrl + W

Question Number : 48 Question Id : 25498941525 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 H, SIH-8T1 FIdts Qiiehe Teheeh i g i o folg ITTNT fohar SITdT 8?2

Options :
1. % Alt+C

2. % Ctrl + C



3. % Ctrl + O

4.« Ctrl + W

Question Number : 49 Question Id : 25498941530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
In Microsoft Excel 2019, the keyboard shortcut ‘Ctrl + 9" is used to

Options :

1. % delete the ninth row

2. ¥ hide the selected row

3. # insert a column after the ninth column

4. # unhide the selected column

Question Number : 49 Question Id : 25498941530 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 #, fiats iicene 'Ctrl + 9' T IUTNT & forg fopar SiTar 81

Options :
1. ® A dfxh () At Sefte A

2. ¢ Tgfd dfth gum (81€e) &

3. # Hd i oh 1G Uch PhicTH 3-T¢ e

4. % Jgfad Sl oht MRS hiA

Question Number : 50 Question Id : 25498941534 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A spreadsheet is made up of many small rectangles which are called

Options :
1. # sheets
2. ¥ cells
3. % series

4, #® applications

Question Number : 50 Question Id : 25498941534 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Ueh Trexfle, &g ®i¢ madi d g+ gidt & o= CHEIGIE

Options :
1. % gffe
2. ¥ 9
3. % Wi

4. % Qierehe

Question Number : 51 Question Id : 25498941539 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The rightmost column in a Microsoft Excel 2019 worksheet is

Options :



1. % FFZ
2. ¥ XFD
3. ®* YYZ

4. & 777

Question Number : 51 Question Id : 25498941539 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
MS-Excel 2019 gdhsfte & et gIfg=T sfed giar gl

Options :
1. % FFZ
2. ¥ XFD
3. ¥ YYZ

4. ® 777

Question Number : 52 Question Id : 25498941551 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Microsoft Excel 2016, alignment option is applicable in a cell only if the cell is formatted as

wrapped text and uses more than one line.

Options :
1. % Center
2. ¥ Justify

3. % Left



4. % Right

Question Number : 52 Question Id : 25498941551 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel 2016 #, JrergHe fahe forelt It & a3t @] glaT & 59 I ot I8 ¢eaRe (wrapped text) &
® o wide fohar SITar & SR Ot Ueh T 31fdeh 18 bl SUANT dhedll gl

Options :
1. ® ¥R
2. ¥ SIfewrs
3. ¥ A%
4. % 3¢
READING COMPREHENSION
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Sub-Section Id : 2549897425
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 25498921157 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
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Sub questions

Question Number : 53 Question Id : 25498921158 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
e & @ H9-a1 SR RA & g8 IaTeA § SIfehas e a1 872

Options :

1. % pig-T% T

2. ® g

3. ¥ A9

4. % gepigi

Question Number : 54 Question Id : 25498921159 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NRd # g¥ Ia1e TR fheent ufdegper g ugmm?

Options :
1. ¢ SRIG-"%T TR WR Tellael aTfET T U1

2. % geft Tt W dgd dTUH S SR

3. ® U.S., sireilet snfe & forg &t gy Iaurges SRt et fAafa

4. % WA fhgrel gRT T <hl ST A%l cht TRETT
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1. % P 3T e a1
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3. ¥ I Mepet A wrfchA

4. % Ry H3ATe
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Options:

1. ¥ gHi-shuie
2. % gy

3. ¢ fastett

4., % Sifde @re

Question Number : 57 Question Id : 25498921162 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Teeft T chig-T%t AT <hl AT | dgar Iifeld g <@ & Hifeh:
a. IThI GY ITG STerarg URad d S ° hd UHIfAd gidT 81
b. & 317 gY IUTGeh &0 <hl AT H 81

C.3ehT 3Y UIEH ek gidT & 3R gd fafa darikat @ s=mar 81
IuYh H & hl--T1 HRUT TG 87?

Options :



1. % a3k b
2.¥ a3k c
3. % paRc

4. % 3 b, 3R c

Question Id : 25498921157 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions.

Milk business

Dairy business provides livelihood to 60 million rural households in India and India continues to be
the largest producer of milk in the world. But, global warming could adversely impact the overall
output in coming years. Indian dairy scientists estimate that climate change will lead to decline in
milk production by over 3 million tonnes (MT) per year by 2020. It is a cause of worry, considering
the growing demand for milk in the country, which is estimated to be 200 MT by 2020-21, as per
the projections shared by the National Dairy Development Board with the Ministry of Agriculture.
Milk production in India has been steadily increasing from 17 MT in 1950-51 to 160 MT in 2015-16.
It will be interesting to know that 51% of the milk is contributed by buffaloes, 25% by cross-bred
cows, 20% by 'desi' (indigenous) cows and 4% by goats. But, the impact of rising temperatures on
cross-bred cows will make the task of meeting domestic demand difficult. It has been seen that
the indigenous breeds are least affected by global warming. Therefore, world's major producers
including the U.S., Brazil and Canada are importing Indian milk-producing animals to develop
heat-resistant species. The Indian Government is also focusing on indigenous breeds through its
National Gokul Mission Programme.

The Centre has been assisting states in setting "Gokul Grams," which would scientifically help local
farmers conserve "desi" breeds of cows and buffaloes. So far, the Central Government has
approved 14 Gokul Grams to be set up in different states.

These Gokul Grams will be self-sustaining centres. They will generate their resources from the sale



of milk, organic manure, vermi-compost, etc. They will also produce electricity from bio-gas for in-
house consumption. Each Gokul Gram will have the capacity to maintain 1000 animals.

The indigenous breeds of cows are not only best suited to fight the impact of global warming, but
these are also known to produce protein-rich milk, which protects us from various chronic health
problems. In order to increase the number of indigenous cattle and preserve such breeds, the
Government has also planned to set up two National Kamdhenu Breeding Centres. One such

centre is being set up in Andhra Pradesh, while the other will come up in Madhya Pradesh.

Sub questions

Question Number : 53 Question Id : 25498921158 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Which of the following animals contributes maximum to India’s milk production?

Options:

1. * Cross-bred cows
2. % Desi cows

3. ¢ Buffaloes

4. % GQoats
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What will impact the milk production in India adversely?

Options :
1. % The effect of global warming on cross-bred cows
2. * The impact of rising temperatures on indigenous cows

3. ¥ The export of desi milk-producing animals to the U.S., Brazil, etc.



4. # The conservation of desi breeds of cows by local farmers
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Which government institution will be specially working on preserving and increasing the number

of desi cows and buffaloes?

Options :

1. * National Dairy Development Board
2. ¥ National Kamdhenu Breeding Centre
3. ¥ National Gokul Mission Programme

4. * Ministry of Agriculture
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Select the INCORRECT option.

The Gokul Grams will generate their own resources by selling:
Options :

1. ¥ vermi-compost

2. % milk

3. ¢ electricity

4. % organic manure
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The indigenous cows are proving to be better than the cross-bred cows because:
a. their milk production is least affected by climate change.
b. they are in demand by other milk-producing countries.

c. their milk is protein rich and protects us from various diseases.
Which of the given reasons are true?

Options :

1. % aandb

2.¥ aandc

3.%* bandc

4. % a,b,and c

QUANTITATIVE APTITUDE
Section Id : 2549897385
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time: 0

Sub-Section Number : 1



Sub-Section Id : 2549897426
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 58 Question Id : 25498928787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

An urn contains 6 red, 4 blue, 2 green and 3 yellow marbles.

If four marbles are picked at random, what is the probability that at least one is blue?
Options :

4
1.2’515

69
2. ¢ 91

11
3. % 15

E
4. % 91
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Options :

4
1. % 15

69

)

22
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Out of the total number of students in a college, 12% are interested in sports. % of the total number of students are

interested in dancing. 10% of the total mumber of students are interested in singing and the remaining 15 students
are not interested in any of the activities. What is the total number of students in the college?

Options :
1. % 450
2.+ 500
3. # 600

4. * Cannot be determined
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Options :

| % 450
5>« 500
3 % 600
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Select the option that can replace the question mark (?) in the given equation.
2184 + 39 + 4- 67 = (2)Y? — 109

Options :
1. ¥ 3316
2.¥ 3136

3. * 3616

4.



* 3636

Question Number : 60 Question Id : 25498929091 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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2184 + 39 + 4 - 67 = (?)V2 - 109

Options :

| % 3316

5, v 3136

5 % 3616

4 % 3636
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Sides of a triangular lawn are in ratio 8 : 15: 17. Cost of fencing the lawn at the rate of T 45/m is T 3600. Find the cost of
turfing the lawn at the rate of 96/m’.

Options :
1. % ¥20,040

2. * 325,060

3.



% 333,090

4.+ 323,040
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Options :

. = ¥ 20,040
, % % 25,060
5 % ¥ 33,000

4 v 23,040
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: 2 2
To win an election, Situ needs 75% of the total votes cast. If aﬁerg of the votes have been counted, she

5 e ;
has—ﬁ of what she needs, then what part of the remaining votes, does she still need?

Options :

&
|
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L
1.% 4

oo |

ool
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The horizontal distance between the two towers is 60 metres and the angular depression of the top of the first tower

as seen from the top of the second is 30 If the height of the second tower is 150 m, then the height (in m) of the
first tower is nearest to:

Options :
1. % 122
2. % 121
3. % 119

4.4 116

Question Number : 63 Question Id : 25498929709 Question Type : MCQ Option Shuffling : Yes
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Options :

1% 122

5 % 121

5 % 119

4 v 116
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Options :

1. ¢ Radical
2. # Radiate
3. # Racket

4. * Radius
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Which of the following words will come third if they are arranged as per their order in an English
dictionary?

Options:

1. # Radical
2. * Radiate
3. #* Racket

4. % Radius
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eldog(a)(b)(c)(d)(e)

Options :
1. % (a)
2. * (b)
3. % ()

4. % (d)
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A group of letters is given; the letters are indexed as (a), (b), (c), (d) and (e), respectively, from left
to right. Arrange the letters properly to form a meaningful five-letter word which begin with the
letter "I" and indicate the index of the last letter as your answer.

eldog(a)(b)(c)(d)(e)

Options:
1. % (a)
2. % (b)
3. % ()

4. % (d)
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Options :

1. % da&A1; 9T DT
2. ® qar; oty ; fOeTS

3. % gag:vd: fea

4. ¥ T GRSl : Bl
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Select the option in which the words share the same relationship as that shared by the given set of

words.

Smile : Laugh : Cry
Options :

1. #* Sit: Sleep : Play

2. % Frown : Anger : Temper
3. # Morning : Night : day

4.« Touch : Catch : Release
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Options :
1. ® <9 difsi
2. % g ol
3. ¥ gecft i 3m

4, ¥ U ; A
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Four pair of words have been given, out of which three are alike in some manner and one is

different. Select the one that is different.
Options :

1. # China: Beijing

2. * France: Paris

3. ¥ Italy : Rome

4.+ )Japan : Nairobi
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Options :

1. % fwared : arhie
2. ¥ SH1h : Y
3. ® f3ar: gflwn

4.« A1d ; Ik’Yy MRt
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Four pair of words have been given, out of which three are alike in some manner and one is

different. Select the one that is different.

Options :

1. % Zimbabwe : Africa



2. ¥ Denmark : Europe
3. #* India: Asia

4. % Norway : South America
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Find the minimum number of straight lines required to make the given figure.

Options :

2.9 11
3. %15

4. * 16
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1.%9
2.9 11
3. %15
4. % 16
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Options :
1. % 3=
2. ¥ gexmEe
3. ¥ faeedt

4. % Heg
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Which of the following cities is NOT on the Golden Quadrilateral being created for the Indian road

infrastructure?

Options :

1. # Chennai

2. ¥ Hyderabad
3. * Delhi

4. % Mumbai
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Options:

1. ¥ SR & Sifaa A fagra

2. % geiH & fOgid A fasgra
3. ¥ ol &l grATfoTehar R fayra

4, % Tl 3R TReh oh ifcaa | fasyra
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Which of the following is a distinctive difference between a Nastika and Astika system in India?

Options:

1. ¢ Belief in the existence of God

2. % Belief in the doctrine of rebirth

3. * Belief in the authenticity of the Vedas

4. % Belief in the existence of heaven and hell
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Options :

1. % GrSiga g



2. % AYISIEh g
3. ¢ Ulh-hisia+ drel

4. % SR8 I
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Shields belong to:

Options :

1. #* Cenozoic era

2. # Mesozoic era

3. ¥ Precambrian age

4. % Jurassic age
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Who among the following is NOT a dramatist?

Options :

1. ® Girish R Karnad
2. * Badal Sircar

3. * Vijay Tendulkar

4. ¥ Jayanta Mahapatra
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Options :
1. ® fRRII pAlS

2. % gred AR

3. ¥ fIsrg dgeTe

4, « Sdd Hgrae
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Options :
1. ¥ dhael 9rgd R AE

2. ¥ had 919d, TIg 3R colgA

3. ¥ chadl Frad, T, Gele 3R foerg

4, % T1qd, Ng, aoled, fderg ok afssra
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An objective of the National Food Security Mission is to increase the production of certain crops
through area expansion and productivity enhancement in a sustainable manner in the identified

districts of India. Which of the following are those crops?

Options :

1. * Rice and wheat only

2. ¥ Rice, wheat and pulses only

3. # Rice, wheat, pulses and oil seeds only

4. * Rice, wheat, pulses, oil seeds and vegetables
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1. % Hhad 1

2. % thael 2

3. v 1 3R 2 gt

4. % 9ar13Rasr2
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Consider the following pairs:

1. Biwa ko - largest lake in Japan covering about 670 km?

2. Sichuan pendi - one of China’s rice producing areas

Which of the pair(s) given above is / are correctly matched?

Options :

1. % Only 1

2. % Only 2

3. ¥ Both 1 and 2

4. * Neither 1 nor 2
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Renewable energy is useful energy that is collected from renewable resources which are
naturally replenished on a human time scale including carbon neutral sources like sunlight
and wind along with waterfalls and even tides waves and geothermal heat. These types of
energy sources stand in contrast to fossil fuels which are being used far more quickly than
they are being replenished. Although most renewable energy are sustainable energy some
is not for example some biomass is unsustainable. While many renewable energy projects
are large scale but renewable technologies are also suited to rural and remote areas and
developing countries where energy is crucial in human development. Energy deployment is
applied in conjunction with further electrification as most of the renewable energy
technologies provide electricity renewable which has several benefits. Electricity can be
converted to heat. It can be converted into mechanical energy with high efficiency and is
clean at the point of consumption. In addition electrification with renewable energy is more
efficient and therefore leads to significant reductions in primary energy requirements.
Renewable energy resources and significant opportunities for energy efficiency exist over
wide geographical areas in contrast to other energy sources which are concentrated in the
limited number of countries. Rapid deployment of renewable energy and technological
diversification of energy sources would result in significant energy security and economic
benefits. It would also reduce environmental pollution such as air pollution caused by the
burning of fossil fuels and improve public health by reducing premature mortalities due to
pollution and save associated health costs that amount to several hundred billion dollars
annually only in the United States. Multiple analyses of decarbonization strategies have
found that quantified health benefits can significantly offset the costs of implementing
these strategies. Renewable energy sources that derive their energy from the sun either

directly or indirectly such as hydro and wind are expected to be capable of supplying



humanity energy for almost another one billion years at which point the predicted increase
in heat from the Sun is expected to make the surface of the Earth too hot for liquid water to
exist. Climate change and global warming concerns coupled with the continuing fall in the
costs of some renewable energy equipment such as wind turbines and solar panels are
driving increased use of renewables. New government spending regulation and policies
helped the industry weather the global financial crisis better than many other sectors. The
ability of biomass and biofuels to contribute to a reduction in carbon dioxide emissions is
limited because both biomass and biofuels emit large amounts of air pollution when burned.
Furthermore biomass and biofuels consume large amounts of water. Other renewable
sources such as wind and hydroelectricity have the advantage of being able to conserve
water lower pollution and reduce carbon dioxide emissions. The installations used to
produce wind or hydro power are an increasing threat to key conservation areas with
facilities built in areas set aside for nature conservation and other environmentally
sensitive areas. More than two thousand renewable energy facilities are built and more are
under construction in areas of environmental importance. And threaten the habitats of
plant and animal species across the globe. Renewable energy devices depend on non
renewable resources such as mined metals and use vast amounts of land due to their small

surface power density.
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